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7 100kN/mM#{BZ % — - ~ — —|3mZi#BZ D - ~ — — — | 100kN/m%i#BZ % — - ~ — —|3m%EiBZ B - ~ — — —
s 1.00 | 0.00 ~ 465 5800 | #nst | 0.00 ~ 0.00| 1.61 815 zh st 1.00 | 5.00 ~ 56.00 58.00 | =nhust | 5,00 ~ 56.00)| 1.61 815
2 100kN/m%E#BZ25 | 1.00| 000 ~ 268 14225 |3mEHBZD - ~ — — —| 100kN/mMi%E#Z25 | 1.00 | 1072 ~ 2600 142.25 |3mE#ZS - ~ — — —
s 1.00 | 268 ~ 1047 100.00 | #nLSy | 0.00 ~ 1047 2.92 14.77 Zh st 1.00 | 5.00 ~ 1072 100.00 | =nhLst | 6,00 ~ 2600 2.92 14.77
3 100kN/m%E#BZ5| 100|000 ~ 306 14873 |3mEEZB|000 ~ 029] 516 156.98 | 100kN/m%i#B2% | 1.00 | 1065 ~ 2600 14873 |3mE#BZS| 2500 ~ 2600| 5.16 15.98
s 1.00 | 506 ~ 108 100.00 | #nLSy | 0.29 ~ 1085 3.00 15.16 zhLst 1.00 | 5.00 ~ 1065 100.00 | =nLst | 6.00 ~ 2500 3.00 15.16
4 100kN/m%E#BZ5 | 1.00 | 000 ~ 300 14772 |3mEHEZB| 000 ~ 014 5.08 15.55 | 100kN/mi£i#825 | .00 | 1054 ~ 2600| 14772 |3m&#BZ 5| 2500 ~ 26.00| 3.08 15.55
s 1.00 | 500 ~ 1079 100.00 | #nLSy | 0.14 ~ 1079 3.00 15.16 zhLst 1.00 | 5.00 ~ 1054 100.00 | =nLst | 6.00 ~ 2500 3.00 15.16
5 100kN/mM%EBZ 5 — - ~ — —|3mZiBZ D - ~ — — — | 100kN/m%i#BZ % — - ~ — —|3m%EiBZ D - ~ — — —
s 1.00 | 0.00 ~ 4.78 59.51 | FnUSt | 000 ~ 0.00| 1.72 871 zhLst 1.00 | 5.00 ~ 5.00 59.561 | =hs | 6,00 ~ 600 1.72 871
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
zhst ~ s ~ s ~ znLst ~
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




